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UPSC 2013

1.aror aRErt A fArfaf@d & @ ala @l o1 giawr gere widr g/aid €2
1) &3 T d6

2) ¥ AR AT R & AT TG dh

3) A e d%

ArY fQU 91T e H JANT F HE 3R AT

A. Faer 1 3k 2
B. &adl 2

C. daa 1 3k 3
D. 1,233

Answer ||| C

Solution ||| Regional Rural Banks are setup to develop rural economy by
showing credit facilities for the purpose of development of agriculture,
trade, commerce, industry and productive activities in rural areas, so
statement 1 is correct. National Bank for Agriculture and Rural
Development refinances financial institutions for rural sector which has no
direct credit to rural household, so statement 2 is incorrect. Land
Development Banks are special banks that gives Long Term Loans to rural
household, so statement 3 is correct. We see that statements 1 and 3 are
correct, so correct option is C.

2.f5d & oS 39 & AT e qx f TET 3T

A. SRR GaRT 3curicd d{-gladﬁ}ﬁT@aT}ﬁ'a??d Hed & SR gl
B. el 3usleT 3R A =7 & I & e g

C. goft afFaat fr dafFas 3T & Ier & SR gl

D. 3cutfe 3ifecar a&g3it 3R Qaisit & A Hog & s g

Answer ||| A

Solution ||| National income is total value of country's output for goods
and services produced in an year, which shows option A as correct. Option
B is incorrect as National Income is not concerning with total consumption
of investments. Option C is incorrect as National income is not related
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with persons total income. Option D is not correct as National income
concerns with nationals of country goods value not money value of goods.

3. & & 39 T8 fGera aRwe & [T &d g2
1) TTTHAT

2) 3ege, o 3maer

3) "eAT ARAUS & AfFIT0T

4) Tl & ATIHA

AR fQU 91T e w1 JANT X T 3R giAT|

A. Faa 1,23k 3
B.%ad 1, 3 3R 4
C. %aa 2 3K 4
D. 1,2, 334

Answer ||| B

Solution ||| National Development Council is chaired by Prime Minister of
India which also includes Union Ministers, Chief Ministers of States/Union
Territories along with Members of Planning Commission. It is noted that
Chairman of Finance commission is not a member of National
Development Council, so 2 is incorrect, which eliminates A, C and D, so
option B is correct.

4 IR (ATSHRISSTel) Sia Hie@ TNk @Y [aciehe Tl & olaTgel & 3UZET
# orm IRT g, FifF FahHe & gany der &

1) YW & ITAAY el Td TGNYOT &F §Glel I &TACT 3T Sl ©

2) pH &7 AfAHATHT A TgaT FeA T &FAT 3T STl &

3) WTIEAAT & GfARNET T &FAAT 3T ST g

AT feT T e @ AT A FE 3R AT

A. Fhad 1
B. &hdol 2 3R 3
C.%aa 1 3R 3
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D.1,23k3

Answer ||| D

Solution ||| Mycorrhiza is an interaction among plants and fungi which
helps in improving nutrient deficient soils that helps in plant growth. It
can upgrade plant strength in poor soil and stores large amounts of
carbon. Statement 1 is correct as Mycorrhizal increase efficiency of
nutrient and water uptake and improves resistance to pathogens against
drought. Statement 2 is correct as Mycorrhizal plants can the capacity to
hold soils with varying pH from 3 to 9.5. Statement 3 is correct as
Mycorrhiza improves plant growth by removing against diseases, since all
three statements are correct, so best option is D.

5.74%c 37did A RIH Sl H0T & 3H¥dcd & YT & AT v - gaeeT
TRMTAR JHATEIRT H & &1 39 FHUT HT WieT T FAT Agcd 67

1) IF & Ig WAST A FGE FN & Fqe Foil 7 Fgla &4 gielr &

2) 75 fashe oifasy & gd a faeg3il & dra & #ifas Iecrer &I 9R fovd foe
& fooq @ g fdeg de 9 TR #el H e fanfld s &
HEG |

3) I §H AR fa@uss & T 9§ $UA 3cdeed el & HGG M|

A feT AT FHe H FANT w FE IR gEAT|

A. Fad 1

B. shdel 2 3R 3
C. dhaol 1 3K 3
D.1,2 3R 3

Answer ||| A

Solution ||| Higgs Boson study shows us that how sub-atomic particles
have mass which is critical part of a calculation which portends future of
space and time, which makes statement 1 correct. Statement 2 is not
correct as Higgs boson particle does not relate to transferring of matter,
but discuss the importance of matter. Statement 3 is incorrect as Higgs
boson particle is not concerning with fuels.
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6.9 & AT dell @l TR ol 7 TIHTSIT FhaT ST HevaTl &, SHT b
T6cd, [aeTd-qrashed, golel ATHDTT Tof IR eIl ATHDIT Tol| 3oTeh HeadT
7, Rfaf@a Fuat & @ Fila-ar v gar J8 82

A. T&cd, IR # T8 9o 8

B. faegd-grechra A% facgd 3maer arel ol o foham cr &

C. il FATHHT ol faeTCAHNRAT T HROT §

D. 9sel FAAAIT I TWAIY] & Fhogeh A Aehdl AR #gCret r aRar fhd w@dr
3

Answer ||| A

Solution ||| As per the table shown we see that:

Force Strength

Gravitational force 10-3°

Weak nuclear force 10-13

Electromagnetic force 102

Strong nuclear force 1

Gravity has weakest strength, so option A is incorrect. Statement 2 is
correct, as Electromagnetism is a science of charge with forces and fields
linked with charges. Statement 3 is correct weak force underlies forms of
radioactivity that governs the decay of unstable subatomic particles
following nuclear fusion reaction. Statement 4 is correct as Strong Nuclear
Force hold subatomic particles of nucleus like protons and neutrons.
Option A is only incorrect while all three options are correct, so correct is
A.

7 AR AT H Siel & A Uohed & v eafaf@a # @ Sia-anvd qon
TR OT BIAT/R/E 872

1) FBR Td A qoy

2) ofg Yol 3ryar quigleter

3) 9o fI SRIE Fie

A feT T FHe HT GANT H HE 3 GAT|

A. haer 1 3t 2
B. hdol 2
C.%aa 1 3R 3
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D.1,23k3

Answer ||| D

Solution ||| In desert areas the climate is hot which shows high
evaporation with tree having long roots, thick barks with waxy, thorns
and little leaves having hair or fur on leaves, so all three options
mentioned in the question is correct, which makes option D as correct.

8.[rAfaf@d eyt # @ HT-avd FE 827

1) Rt # F-3cues & AT 3mawEd TosA a8 A

2) TawTopait 1 fondlr off Teofda aregs & aftia fhar o dehdr €

3) fawropsit & ve S @ qEe Sfig F HART Sladrr Haed T & g g
A feT aTT FHe H JANT T FE IR AT

A. Faa 1

B. %had 2 3R 3
C. %der 1 3iR 3
D. 1,233

Answer ||| A

Solution ||| Statement 1 is correct as Viruses has genetic code in nucleic
acid having no mechanisms for multiplication. Virus have no energy
generating systems and lack in certain chemicals like enzymes for
reproduction. Statement 2 is incorrect as Viruses lack organelles and
depends on host cells metabolism for replication so they cannot grow in
synthetic media. Statement 3 is incorrect as virus exists as biological and
mechanical vectors which states statements 2 and 3 as incorrect that
eliminates B and C, so correct option is A.

9.X ST # 3nTheh Hgefa ifard &9 & gl Ife

A. f32a 31TaTdT H deaheifeh YT gl &
B. X & =& JEfT g &
C. X & Yoh-faor grar &
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D. faeg 3rJcggrdar # IR H AET Fedr §

Answer ||| C

Solution ||| Economic development of a country concerns with increase in
incomes along with increase in consumption, savings and investment
which could be in any shape of capital formation, so this clearly satisfies
option C.

10.%5 uferifaa diur safow s1@r sed &, Fifh

A. 7E FedT g @l 9o Ad @ &

B. 3fRwier e I 715 e & 3ife g ¥ I3 od &
C. 9o & girer 3ifRemier HoT Ao a7se g o &

D. ufeRiuor & g afeat atfaerea @ sl €

Answer ||| C

Solution ||| Root hairs of young trees are thin and delicate which gets
damaged while transplanting which may or may not grow that clearly
satisfies option C.

11,579 49 aw & ol R @R 8, a1 Seately aa0dr g1 586 fav Hefafaa &
T - #Afde aReeanw GFagr §?

1) 9Rk&9or

2) 39adel

3) 3edRe WRIas

ARy fQU 91T e @1 JIANT F FE 3R giAT|

A. Faa 13k 2
B. %had 2 3R 3
C. %der 1 3K 3
D.1,23k3

Answer ||| D
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Solution ||| A rainbow is meteorological phenomenon which occurs due to
reflection, refraction and dispersion of light on water droplets which
shows spectrum of light in the sky. This description satisfies all the three
phenomena listed in the questions, so option D is correct.

12.faf@a aRgeast W TR fiew:
1) ayfer & T &1 3JAT

2) SSHATRTST # I AT T

3) FSHATRIA H dogdT &l T

4) 3TTehTeT H AR 1 fe@er

39gFT H U FA-8 TRCHA §?

A.1,23R3
B. 3,435
C.1,23R4
D.2,33R5

Answer ||| C

Solution ||| Optical illusion is characterized by visually apparent images
which differ from objective reality. 1 “Size of the sun at dusk” is correct
Sun appears big in size at sunset while sunrise is a mental illusion. 2 ”
Colure of the sun at dawn” Is correct as sun appears red as atmosphere
scatters blue light more efficiently which is optical illusion. 3 “*Moon being
visible at dawn” is incorrect as sun or moon at horizon where vertical
diameter is less than horizontal diameter. 4 “Twinkle of stars in the sky "
is correct as twinkling of stars is nothing but optical illusion as light
travels in straight line and when passes through hot and cold air layers
bends and deflects. From above description, 1, 2 and 4 are only cases of
optical illusions, so option C is correct.

13.@3fhd 3R FRY 7 dra-9afeT &1 93T giar g, Fifs

A. TTear 3N gl & e HEILT S A &7 §¢ ST §
B. ufgar AR g & g Ty 1 gevrel &7 §¢ 1T &
C. ufgar 3R ¢l & o FEuel &1 el &7 g Srer §
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D. 3udad HuaAl § § F$ o Tl G &

Answer ||| C

Solution ||| Ball bearing reduces rotational friction by reducing area of
contact between the wheel and axle. In ball bearings the ball are spherical
which are in contacts with the wheel and axle at a very small point
making it to spin smoothly, which describes option C as correct.

14.AFAfaf@a dRdAT wftiend @R faar fifav:
1) gfsarar

2) THUS HH (cleder o)

3) 3T 7T

3T A @ BIA-HI/A Fehedd 8/g?

A. Faer 1 3R 2
B. %hae 3
C.1,23R3
D. IS 8T

Answer ||| C

Solution ||| Critically endangered is top risk category allocated by IUCN
Red List of wild species. Gharial is species of crocodilians found in Indian
subcontinent who were listed as Critically Endangered in IUCN Red List of
Endangered Species, so 1 is correct. Leatherback sea turtle is a circum
global species which was abundant throughout world and were declared
as Critically Endangered, so 2 is correct. Swamp deer is highly
endangered species which is also included in red data list of rare animals
of IUCN, so 3 is correct which shows that all three are correct making C
as correct option.

15.90d Iss H HUsSIRA B 36 AT do ddd o, FAiTh

A. GIST Fr el 787 g5 & el §
B. 9ITaRUT H FIad SBAHTFASS HT Alegdl 96T &7 Sl g
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C. 3@ T & Ter & e §
D. 3l §¢ Sy &

Answer ||| C

Solution ||| Cold chamber structure is relative humidity where
temperature is lowered by 6°C to 10°C that hold up ripening process
which increases shelf life of fruits. Due to reduction in temperature, the
rate of respiration gets reduced, which satisfies option C.

16.5e0 T qfcd JUME WEoA W ged HT AT H Feid gl g, o

A. PAT-FR A FRac 3m Sreef
B. sUTST &I X # gefd gl Sreaf
C. SITST &1 ¥ H FHHAT g ST
D. 3 3R USHIR & T H geid g v

Answer ||| B

Solution ||| If the supply of money is same and in case of increase in
demand for money, then in such case people will deposit less money in
banks which makes the bank to increase the rate of interest in order to
catch people so as to deposit money in bank, which describes in option B.

17.Fraff@a & @ 59 e &1 3ua 999 J gaifds chifdsd g i
JEATTAT 87

A. ot 0T & Fhich

B. 99ic OI¢ & a0 & ToT JId4dT & HKUTNSH
C. 99l "¢ & fadiaea & fov dar & FHomersT
D. goi¢ ure & fadiae & v &S Har & Foiel

Answer ||| D

Solution ||| Inflation results by increasing money supply that increased
the total demand. The rate of inflation depends on money supply in an
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economy. So among the options given, the most inflationary will be
arranging money for financing budget deficit which is option D.

18.9R &1 faeel #eT IRfET & & Feafafed & @ #la-ar ve Acqwgg
aFAfed g2

A. facelt #er gREFTfd, 3w 3meor HRSR (THO03TRO) dur faceit & =xor

B. fae=l #er aREwufd, #RdT Red & garr aria Faol qur faQy 3meeor
3SR (THOZT03TR0)

C. facelr Her aR@edf, faeg d @ Hor dur Ay 3meor 3w
(THOS03TR0)

D. fagel Har aREFaf, RN Rord S gant a0l qar faeg Red 8+ @
EEUT

Answer ||| B

Solution ||| Foreign Exchange Reserves serves as deposits of foreign
currency by Reserve Bank which includes gold, Special Drawing Rights
and foreign currency assets, so option B is correct.

19. 91T HHAT-TR & Foiad Ffaf@a & & fFa/fFa FRor/ERT & &
Fehll 8/8?

1) e 1 qfcd # gefa

2) 3¢ & gHIT TR H Rrae

3) 9HTEr AT # gefd

ARy fQU 91T e @1 JIANT F FE 3R giAT|

A. &hae 1

B. shael 1 3R 2
C. %der 2 3R 3
D.1,2 3R 3

Answer ||| D
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Solution ||| It is seen that factors which contribute to rise in price level
result from rapid growth of population, increase in incomes, increasing
non-development government expenses and increase in money supply,
shows statement 1 and 3 are correct. Further it is noticed that a sudden
change in price may caused an increase or decrease in supply of goods,
which related that statement 2 is correct. As all three statements lead to
either increase in demand of goods and services or decrease in the
supply, so correct option is D.

20.3a9¢ oo faae Fad gaaf-ud oar?

A. HRAY €aRT §RAAIR ofdhl el T F& gfaaeel 1 o] fohar S

B. 9T $WI3i & YR gl alel aR-31 3R af¥enit © gfdsewer «reg
foRar SreT

C. T & &Nl & A H Fodrs A & v dRAT =armediel w oers T8
IANTIATHT FT geAT SATAT

D. 3marfdd il UST T @NT T Yok HT gedT STl

Answer ||| C

Solution ||| Viceroy Ripon in 1883 introduced Ilbert Bill which proposed
amendment for existing laws in the country by allowing Indian judges and
magistrates to try Europeans in criminal cases in District level, so this
shows option C as correct.

21.T0 SdT

1) 81 & Aegleled YRFH el & foIv 3aterir of
2) Faraifteerer AraEer fr aeurer oOf

3) §f3TaT AT FEAH ST Teh S JegeT Af

ARY fQU 9T e F TANT X T FYA/FHYAN H AT

A. e 1

B. hdel 2 3R 3
C. hael 13K 3
D.1,2 3R 3
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Answer ||| C

Solution ||| Statement 1 "responsible for starting the Home Rule
Movement" is correct since Annie Besant launched Home Rule league in
1916. Statement 2 "founder of the Theosophical Society" is incorrect as
Theosophical Society was founded by Blavatsky and Olcott in 1875 and
not by Annie Besant. Statement 3 "Once the President of the Indian
National Congress" is correct as Annie Besant was elected as President of
INC in 1917. Both statements 1 and 3 are correct so correct answer is C.

22.97d & WA sfagrd & Hegdl H, e Td ACT-Fell I Tk 7ol 7
‘T g AT &, ITNT FIeT T 3T dob ARAT FellhRT AT W@l
frifaf@a & @ FHa-ar v FuaT 30 Ao A Fafadr & § afola a2 g2

A. T dig HIgT STar § AR ¢E IS fohed faodiar feom # & wa affar W ash &r
ST &

B. AW AIATAN, §EIHAIV Td HHooll HidIT Helehed 3ryar dgr@en arat
Pl TdlhlcHS T H TFd el & TolT AT HI ATl &

C. 8, AW Td gl I aIfd T JANT TaT Hl HHAFA el YT Teh HAT Hgad
& U forar Srar §

D. #e FAld, UIS T & Td HiduT gEadan3t W oo &I1 S g, 949
IR T 3eperferat @ Afdeaea s & fav

Answer ||| A

Solution ||| Tribhanga dance featured exceptional gestures and postures
where the dancer has three bent figure where head is inclined on one
side, upper body bent on opposite direction while remaining part of body
below waist is in reverse direction, so option A is correct.

23.STAifeRehl ST & qUT @187 &l IIed el & [T R &l &1 el AMgu?

A. FRICIT fashre Y Gicarget

B. 3R & AATTS FR&T A3 S IRES
C. Ry Fcg & & wAr

D. 3= & &1 fAsieor
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Answer ||| A

Solution ||| Demographic Dividend is rise in economic growth rate with
increasing share of working age people among the population. To take the
benefit of demographic dividend, government undertake certain measures
to impart skills to Indian workforce, so option A is correct.

24.0Rd H AFATaf@d 3cei # & HiA-AT Uh dlell o q94 I8 3T §7?

A. FfF=IEST
B. MTsT Ud SI1er
C. gEicdeT
D. a9 erfed

Answer ||| D

Solution ||| The table below shows consumption of water by above
Industries, which shows that option D is correct as Thermal power plants
consumes maximum annual water.

Industrial Sector 22{1;2; consumption of water (million cubic
Thermal power plants 35157.4

Engineering 2019.9

Pulp and paper 905.8

Textiles 829.8

25.0Rd H SFI eanT qraffie &1 HolglT & dread fhaehr ®oT ¢af & g7

A. Y
B. oY (ATSsh!) Ud DI 3eIH

C. go# adf
D. 39d&d waf
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Answer ||| D

Solution ||| Priority Sector Lending concerns with activity of Reserve Bank
of India that directs the banks to provide particular bank lending to
agriculture, small scale industries, Micro Credit, Education and Housing
loans for development of economy focusing on financial sector. The
options in the questions are all correct, so correct is D.

26. R HITEAT & Hocdl A, "Gell SR Fellelel’ frd RAfése aar & 2

A. 3eTgfad depl gaRT RBI & FOT ofell

B. arfOIfSTess del gaRT 39T 3R AR &1 &l K0T &aT
C. RBI ¢@RT WY gfasifaat &1 %3 3R faswa

D. 3uddd # & HI$ g

Answer ||| C

Solution ||| In terms of Indian Economy, open market operation refers to
an activity of central bank to buy or sell government bonds/securities in
open market which are applied to implement monetary policies, so option
C is correct.

27 fArfafgd e aRweafaal ) faer fifac:

1) sopr & i AT ST

2) Sl & grE @At oA

3) Sl & 9 FId ST

4) H=dr

5o ATl T, aXEdT & e §U FA A T g §

N N

-4-3-
-3-2-
-3-1-
-1-3-
-2 -

rnUOUJ:D
w_pN.bl—k

4-1

Answer ||| D
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Solution ||| Liquidity is a degree to which an asset can be converted to
money. It is noted that the most liquid asset is cash or currency as it can
always be used easily and fast, so 1 has the highest liquidity.

Demand deposit with Bank is an account having more liquidity with easy
access in comparison with time deposits, so Demand deposit is less liquid
than Currency.

Savings deposits with Bank have less liquidity as compared to cash or
Demand deposit, so the correct order willbe -4-1-3-2

Currency- Demand deposits with the banks - Savings deposits with the
banks - Time deposits with the banks.

28.AFAfAfEd oAt W faar fAfSw |

1) Siefenid - T : Uo - TafFaa

2) SASTT - FET : qoT - AT geer
3) SeTolfa - SRIRAT Y : T - Hifsem
4) STl - §isT : T - AfAer=rg
39Fd 7AT A @ HlA-8 e gATAT g ?

A. &ae 1 3R 3
B. hdel 2 3R 4
C. %aa 1, 3 3R 4
D.1,2,33Rk 4

Answer ||| A

Solution ||| Limbu tribal population are located in Eastern and Western
Sikkim, so it is correct. Karbis are major ethnic groups in North east India
from Assam and not from Himachal Pradesh, so it is incorrect. Dongria
Kondh tribal lives in Niyamgiri Hills in Orissa, so it is correct. Bonda tribe
lives in the Malkangiri district of south western Odisha at the boarder of
Odisha, Chhattisgarh, and Andhra Pradesh and not in Tamil Nadu, so it is
incorrect, hence option A is right choice.

29.af3d-gism & R, e & dfsd fFas / fheish garT 3cue gidr 8/8?
1) 3T H FUTE-asT Al & Feer O
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2) dfsd &, asTAsEl & qus #cdr §
3) gar 3R I FUN & FUX FT 3R g ToT I
A feU aTT FHe T JANT W FE IR YAT |

A. Fad 1
B. 23k 3
C.13R3
D. 39ded & @ &I o aAfsa =7gr & |

Answer ||| D

Solution ||| Thunderstorm is a storm with lightning and thunder which is
produced by cumulonimbus clouds. Thunder appears when lightning on
crossing sky makes air around it so hot that it produces powerful
explosion. Statement 1 is incorrect as thunder is not produced by meeting
of giant cumulonimbus clouds but takes place in such clouds. Statement 2
is incorrect as thunder in sky is produced by lightning and not by
separating nimbus clouds. Statement 3 is also incorrect as thunder in the
sky is not produced by aggressive upward movement of air and water
particles, but by expanding and contracting of air. As all given statements
are incorrect, so correct option is D.

30.7%ET faffes dar wifeor & degd H, Aeafaf@a s W faar fifaw:
1) SHAT 36T FAT GE & UR W FATS & hAGR qaif &l F:¢csh Td
geTA At TaIl 39eetl HIET |

2) I & W A Tt FwAT 3R A3 H o] ae & fov T [Afgs
dar grfeor F fAder I aar g |

TS HYAT A § HlAT-T/A TET B/e?

A. &hae 1
B. el 2
C.13R 2
D.Aadar13ikaar2

Answer ||| C
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Solution ||| Statement 1 “Its objective is to provide free and competent
legal services to the weaker sections of the society on the basis of equal
opportunity “ is correct as National Legal Services Authority gives free
legal services to weaker sections of society and organize Lok Adalats for
agreeable settlement of disputes. Statement 2 “It issues guidelines for
the State Legal Services Authorities to implement the legal programmes
and schemes throughout the country “ is correct as National Legal
Services Authority directs every State, State Legal Services Authority has
been constituted which are monitored by the National Legal Services
Authority

31.Fmof@a Frel w AR fAifaw:

1) T AT H FHES TAT 39TANTS 39 Ted & HET g7 g |

2) Tegufd & fAdTasr # HH, & el Gl & Adleld TGl Hl AdGlT &l His
3SR LT 8iaT, ST 39 TSeUfT & fAaTaeT & Adee &1 JfHR giar & |
3UFT HUAT A § HIT-HI/A TE /e ?

A. Fad 1
B. &hdel 2
C.13R 2
D.Adr13Raar2

Answer ||| B

Solution ||| Statement 1 “"Chairman and the Deputy Chairman of the
Rajya Sabha are not the members of that House " is incorrect as Deputy
chairman is elected by Rajya Sabha itself. Statement 2” While the
nominated members of the two Houses of the Parliament have no voting
right in the presidential election, they have the right to vote in the
election of the Vice President” is correct as President is elected by
members of Electoral College with nominated members of both the house.
As statement 1 is incorrect, it eliminates option A, C and D, so option B is
correct.

32.fAwfaf@d e 9 faur Hifa:

1) U Taehrd aRwe, JISTer 3MANeT &1 Ueh 3097 ¢

2) 3nder 3N FTATSS AT I HRA & HAUT HT FHa g # @M 937 g
|
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3) 9RT &1 gfaurT I8 fRAfgd Far § & Twrar # 3nfds e g gmfos
O T AT Felled T PRIUR &1 F=m Tfge |
3UFT HUAT A § HlT-T/A TE /e ?

A. Faer 1

B. el 2 3R 3
C. %aer 1 3R 3
D. 1,23k 3

Answer ||| B

Solution ||| Statement 1 “National Development Council is an organ of
the Planning Commission " is incorrect as National Development Council is
not an organ of planning commission, but serves as advisory body that
approves Five year plans. Statement 2 "Economic and Social Planning is
kept in the Concurrent List in the Constitution List in the Constitution of
India” is correct as economic and social planning lies in concurrent list in
Constitution. Statement 3 “Constitution of India prescribes that
Panchayats should be assigned the task of preparation of place for
economic development and social justice “ is correct as under voluntary
provisions, their appears devolution of powers and responsibilities where
Gram Panchayat initiate participatory planning process and execute plans,
so correct option is B.

33.fa=fofad e W AR fifaw:

1) Feg 7 ARIRYE Foe F 9 AHRF FT ¥ IAERY el |

2) §E #FAr HIRT & ST & YAIG -9ded UG YROT 3T |

3) fafer-foeTor 8 v & I & JUTAAAT, Isguld 1 T Ham |
YT HUAT A § HIT-HI/A TE /e ?

A. &hae 1

B. shdel 2 3R 3
C. %der 1 3iR 3
D.1,23k3

Answer ||| B
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Solution ||| Statement 1 “"The council of Ministers in the Centre shall be
collectively responsible to the Parliament ™ is incorrect as under article 75,
Council of Minister is collectively responsible to the Lok Sabha. Statement
2 “Union Ministers shall hold the office during the pleasure of the
President of India” is correct as article 75 highlights that Union ministers
hold office during the pleasure of President. Statement 3 “Prime Minister
shall communicate to the President about the proposals for legislation” is
correct as It is duty of Prime Minister to communicate to President
regarding every decisions of Councils of Minister related to affairs of union
and proposal for legislation. We see that statement 2 and 3 are correct,
so correct option is B.

34.9Ges] SRS &7 rHAIT: 3 giar ¢ &

A. ST 93T AEAT H RSP B ¢ |
B. dfhfeus USTIIR 39Ty oTel & |

C. #ffeh &I WA Scdigehdl Y &
D. sfAsr i Icargarar At § |

Answer ||| C

Solution ||| Disguised unemployment takes place where portion of labour
force is left without work or is working in laid off manner making worker
productivity zero. Option A is incorrect as disguised unemployment makes
some people employed. Option B is also incorrect as disguised
unemployment has no alternate employment. Option C is correct as
disguised unemployment has labour force where worker productivity is
essentially zero.

35.Afaf@d Fuet W fTEr fife:
1) FAeRHIfd ® O 1 omer g § |
Z)Wﬁﬁaﬁg-unaﬁaﬁmﬂqgm‘cﬁﬁl
3UFT HUAT A § HIT-TI/A FE/E?

A. Fhad 1
B. ohddl 2
C. 13k 2gm=r
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D.aar13ikadr2

Answer ||| A

Solution ||| Statement 1 “Inflation benefits the debtors” is correct as with
redistribution of income and wealth their appears unexpected inflation
which acts as redistribution among debtors and creditors where debtors
gain from inflation due to repayment to creditors. Statement 2 “Inflation
benefits the bond” is incorrect as bond holder will lose since the value of
interest decreases, as statement 2 is wrong while statement 1 is correct,
So correct option is A.

36."Sfedy WA §, I FA § 3R oleT T IYART g3 T X
39ded HY fAFafaf@a &l # & fhaer a8 3T auie §?

A. 30PTRT FaTaT
B. {7t RIS U
C. 3T AR 93 7

D. ASaRATS gogr

Answer ||| D

Solution ||| Option A is incorrect as in African Savanna has tropical
grassland with warm temperatures all round the year with highest rainfall.
Option B is incorrect as in Central Asia Steppe, the climate is sub-humid
and semiarid with annual precipitation is 18 inches to 10 inches with snow
ranges from 4 inches to 20 inches deep. Option C is not correct as North
American Prairie has less rainfall with moist and dry climates. Option D is
correct as Siberian Tundra has limited rainfall with extreme climate where
nomadic herding is main activity.

37 .farafaf@a waeal W faar fifav :
1) OTE 2) HIholl

3) a1 4) g

A Fla-dr @A® AT waar § ?
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A.13R4

B. %had 2 3R 3
C.1,23R3

D. 2, 33K 4

Answer ||| C

Solution ||| Kharif crops are monsoon crops which are planted for autumn
harvest that gets cultivated at the time of monsoon such as Cotton,
groundnut and rice, so 1, 2 and 3 are correct. 4 Wheat is incorrect as it is
a Rabi crop, hence option C is correct.

38.AmIff@d Fret W IR Hifaw:

1) wehfaeh 3 aiisarer &R A 9Rl S §
2) 31 YT AT H HISTAT H 9T ST § |
3) uRaTE @fas de & T gfdey § |
3udFd HYA A § HleT-qvd TE 2

A.13R2
B. dhdel 2
C.23Rk3

D. FIg T

Answer ||| A

Solution ||| Statement 1 is correct as shale a non-conventional natural
gas which is found in Gondwana rock. Statement 2 is correct Koderma
was considered as the mica capital of India. Statement 3 is incorrect as
Dharwar is famous for Uranium deposits and not petroleum, as both
statements 1 and 2 are correct so correct option is A.

39.97Rd Fr ese Fedt F R A Fef@d # @ Fi9-9 sy T £ 2
1) & ATYUROTT: ol 97 T gl & |

2) § ABeIeTeT 3R aerer & gHAey gar § |

3) 37T ISIEATT 3R 3R TS H 30T f9emd g3 & |
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4) 31 fACET # AT 3R o] & 3eed 3ueT gial & |
A feU AT FHe T gANT W FE IR YT |

A. 1,233
B.2,33R4
C.13R4

D. %haer 2 3R 3

Answer ||| C

Solution ||| Laterite soil in India contains iron and aluminium that is rusty
red in colour due to presence of iron oxide found in hot and wet tropical
areas. Tea, coffee, cashew, rubber and coconut mostly grows in such soil.
We see that the description clearly satisfies statement 1 and 4, so correct
option is C.

40.fAFATATET & & FlA-G1/F ARAT FiTel H1/dh ATHALTT 8/ ?
1) 3T HTH 3

2) & Tew 37U

3) A%t $1EA HeTeld dT9AT

A feT aTT FHe T JANT F FE IR IAT |

A. Faer 1 3R 2
B. &had 2

C. %der 1 31X 3
D.1,23k3

Answer ||| D

Solution ||| There are many significant characteristic of Indian coal. 1
“High ash content” is correct as Indian coal contains high ash content that
ranges from 35% to 45% as compared to coal found in other parts of
world. 2 “Low sulphur content” is correct as Indian coal has low sulphur
content of around 0.5%. 3 “Low ash fusion temperature “ is correct as
Indian coal has higher ash fusion temperature of around 1,500°C, which is
not suitable for coal. Since all the above three are characteristics of
Indian coal, so option D is correct, but in terms of advantage of Indian
coal, option A is correct, as statement 3 is not favourable for Indian coal.
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41.7gIEAdl & 3ed:- ¥l &I a1 dr9- aRET JTEF &t $r 3R giar
g1 SHH/SHS FIAT HIROT g8 ?

1) §f#F 3R T & g Al 3FaR

2) Hgledmdl 3N HEERRT & & qarer # 3ok

3) 3ed: T A a3 gasl i AT

4) det &I T 3fed: T # ghet arell AT ot

ARy fQU 91T e H JANT X T 3R IAT |

A. Fad 1

B. ohael 1 3iR 2
C. dhad 2 3k 3
D.1,2,33R4

Answer ||| A

Solution ||| Temperature at coastal is not so hot as compared to portion
inside the continent as water having higher heat capacity as compared to
soil and rock allows ocean to take longer time to heat and to cool the
land. Since coastal areas have more moderate temperatures as compared
to inland areas because of heat capacity, the areas near ocean remains
cooler during day with moderate temperature range as to inland areas,
which clearly supports option A as annual temperature range of continent
and inside of continent differs due to thermal difference among land and
water.

42 .9Rd & HegH H, HEGT mHA-90Tell & faeafaf@a & ¥ sla-ava Reyued
IS ¥9 H fAfga g8 ?

1) AFASH & dd¢ & ST 8id @ |

2) SI9 T AT I GHE, T [9ard Yo ET § d9 & 9 39 9 W a9 |
g |

3) T HT 3eTeT & AFHASST &7 37reTeT giar § |

A feT AT FHe T JANT w FE IR YT |

A. Faa 1 3K 2
B. shaol 3
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C. adol 2 31K 3
D.1,23k3

Answer ||| A

Solution ||| Statement 1 "Member of the Cabinet are Members of the
Parliament " is correct as Cabinet consists of Prime Minister and Ministers
who virtually are Members of House of Commons. Statement 2 “Ministers
hold the office till they enjoy confidence in the Parliament” is correct as
Ministers will hold the office. Statement 3 “Cabinet is headed by the Head
of the State” is incorrect as President is the head of the state while Prime
Minister is head of government. As statement 3 is incorrect, this
eliminates B, C and D options, hence option A is correct.

43.91Rd # gifae AR & sfag & daey d, AT TF9eT ¥ adieed
ffaf@a Fyar w foar fifaw:

1) GIET YeloieH IT HICHT & JHTEETH & TACHled Hi FhN g il ¢ |
2) T Fr AT § [ 3cA-AT & AT HT 3R o AT § o b S aEg
AT IHAAT hRh |

39YFd HYA H A PIA-TVA e 818 ?

A. Fae 1

B. &had 2

C. 13k 2 a=r
D.aar13iRag?2

Answer ||| C

Solution ||| Statement 1 is correct as Sankhya doesn’t believe in rebirth
of soul. Sankhya believes human existence as seat of strong suffering
where ignorance is root cause of suffering through discriminative
knowledge, which thinks statement 2 is correct, so correct option is C.

44 Fefaf@a taefs el ) TR fifav:
1) 37STedl T AT
2) ouret Afeel
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3) |rdr &
39ded Tl A @ HiT-and A Rasher & faw ot S&1 S g/a= S € ?

A. Faer 1

B. haer 1 3R 2
C.1,23R3
D. 35 &

Answer ||| B

Solution ||| Mural paintings are found in caves of Ajanta, Bagh,
Sittanavasal, Armamalai Cave, Ravan Chhaya rock shelter and Ellora. 1
“Ajanta Caves” is correct as it is famous for murals. 2 “Lepakshi Temple”
is correct as it is renowned for one of the best repository of mural
paintings of Vijayanagar kings. 3 “Sanchi Stupa” is incorrect as no
evidence was received till now for the presence of mural paintings. 1 and
2 are only correct, hence B is correct option.

45. AT # @ HlA-@ YollIrd @1 &l Tell ad § ?
1) faceir =or

2) gcgeT facel faAqer

3) s 9T a1

4) gichrenferar faaer

ARy fqU 91T e A1 JANT X FE 3R IAT |

A. 1,2 3R 3
B.1,2 3R 4
C.2,33Rk4
D. 1,334

Answer ||| B

Solution ||| The capital account is the cumulative result of public and
private international investments which is coming in and going out of the
country which includes foreign direct investment, portfolio investments
and other investments along with Foreign Loan account. This description
shows that 1, 2 and 4 are correct, hence B is correct.
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46.FAFATIGT # @ Sia-aY, fayacha g=it T efadg faQvar g/ faQvamn § 2
1) 39, gt gaft F e B Rl aeaw fare sam &

2) Sga-Ar St 1 dg-31feded &

3) 3ifuredt $r ey freAt Hr faegaAEar &

ARy fQU 91T e H JANT W T 3R IAT |

A. Fad 1

B. ohdel 2 3R 3
C. daa 1 3k 3
D.1, 23R 3

Answer ||| D

Solution ||| Statement 1 “Presence of tall closely set trees with crowns
forming a continuous canopy " is correct as equatorial forests has
different types of trees and other plants that are growing closely in small
area where crowns of trees about 65 feet to 130 feet high which are
tightly packed together that looks as canopy from above and not allow
sunlight to enter. Statement 2 “Coexistence of a large number of species”
is correct as in such forest, there are 750 species of tree and 1,500
species of flowering plant in 4 square miles of forest. Statement 3
“Presence of humerous varieties of epiphytes” is correct as many
epiphytes plant grow on trees, as all 3 statements are correct, so correct
option is D.

47 FEX # FaITte Agcaqul HAEI &7 3o7 &5 H 9T S 8, STel

A. HIsoT 4T T aAvSHY RV Herdr §

B. Afdt WERT # y=X AT # el STor Farfgd el §
C. IsoT g Nd ARRT GRI¢ fAerd §

D. Aged T Aok IR §

Answer ||| C

Solution ||| It is seen that the world's most productive fishing grounds
are located where warm and cold currents meet as these region tend to
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have regular foggy conditions and because of this lot of weeds are found
in that area which makes the fishes to attract for their feed, so option C is
correct.

48.9RdT # wWiey Y@en & Weadl A, rafaf@a & @ e v wUF S
39gceH S hgalldl o/g ?

1) fawroy 2) shaeh 3) Sfarog

A feT AT FHe H FANT F FE IR JEAT |

A. Faa 1

B. %had 2 3R 3
C. %der 1 3R 3
D.1,23k3

Answer ||| B

Solution ||| Decomposers are organisms which consume and break down
dead and decaying organisms and wastes of other organisms. 1 Virus is
incorrect as it is not a decomposer. 2 Fungi is a decomposer as they make
enzymes which decompose decaying matter while spreading on the
nutrients of particular substance. 3 Bacteria is correct as it is an
important decomposer which mainly breakdown organic materials and
generates heat by composting. Both 2 and 3 are correct, so best option is
B.

49 fArafaf@a #fdFa G=dl W fgar ffFw

1) a1g &arel

2) & AleTeh

3) ARRS

SIH O Pl 3T AT 3UCY ol AT/Sd T I Al
dqrwwgmamwmgm?

A.13R3
B. hdol 2
C. 23k 3
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D.13k?2

Answer ||| B

Solution ||| The Lodi Dynasty ended in 1526 when Sultan Ibrahim was
defeated at Battle of Panipat. 1 Dadu Dayal is incorrect as Dadu Dayal
was born in 1544 after the Battle of Panipat. 3 Tyagaraja is incorrect as
he was born on 4 May 1767 much after the fall of Lodi dynasty. 2 Guru
Nanak was a bhakti saint born on 15 April 1469 and survived till 22
September 1539 which is the period of fall of dynasty, so it is correct. As
statement 2 is only correct, hence correct option is B.

50.fFfaf@d ¥l W TR fifew:

A @ fr gEdT afafa

1) ol THT & ATAhdH 25 & I Ifdd 8iar g

2) WR & [ gur 9 faa a@nt fir S Fdr g
3) 9Rd & ATTF-Age@maieTe af RAC & T Xl &
SUdFd HYAT A @ HlT-T/A FE B/e ?

A. Fad 1
B. %had 2 3R 3
C. %dd 3
D.1,23k3

Answer ||| D

Solution ||| Statement 1 “consists of not more than 25 Members of the
Lok Sabha " is correct as Parliamentary Committee on Public Accounts has
maximum of 22 members out of which 15 are from Lok Sabha and 7 from
Rajya Sabha. Statement 2 “scrutinizes appropriation and finance accounts
of the Government " is correct as committee scrutinizes appropriation
accounts of various Ministries as Railways, Defence, P&T and other Civil
Ministries. Statement 3 “examines the report of the Comptroller and
Auditor General of India “ is also correct as Public Accounts Committee
examines report of Accounts of union government submitted by
Comptroller and Auditor General of India to President. Statements 1, 2
and 3 are correct so this follows option D is correct.
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51.F=fofaa e | R fifew:

1) sfcaad

2) g

3) aifsad

39dad @idell # @ AlTg R # IR & dhaat & v faneehr /fheehr
3TALThT giell 8/ ?

A. Faa 1

B. %had 2 3R 3
C. %der 1 3R 3
D. 1,233

Answer ||| D

Solution ||| Our body is made up of various types of muscles which
require certain minerals to contract. 1 Calcium is correct as it is required
for activating enzymes that causes muscle contraction which can be
available in sources such as milk, cheese, yogurt, cereals and juices. 2
Iron is correct as it helps in contracting of muscles where muscles use
energy and oxygen. 3 Sodium is correct as it help nerve cells in sending
electrical signals to muscles for contraction. Hence 1, 2 and 3 are correct
so correct is D.

52 .Yh-{EToleh ¢ T Sofell fehoteh dTer HTATHAT ST IROMHA glam & ?

A. 0:0: o iR Arste & &, gF & gerer 1 suRRufy
B. €00 qar WiritRfee arste & &, gF & gerer 1 3uReUfy
C. €90 qor 202 & 4w, faeet AW W

D. V02 & 3= @igor, % gur €O ¥ S, o # TG

Answer ||| A

Solution ||| Photochemical smog is secondary pollutant which occurs
when pollutants as nitrous oxides and VOCs interact with sunlight forming
ozone and peroxyacetyl nitrate. It is a type of chemical reaction of
sunlight, nitrogen oxides and volatile organic compounds in atmosphere,
which makes option A correct.
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53.farifaf@a # & sla-ar & ug, daer Sla garr #gor Ry 1 fEFeurT @
g o181, diceh Siidl & HHAGH # 3Hh! HilcAs AR 1 3 guled Far 872

A. HehAHT (SehICH)
B. aiREfaehr sefdr

C. &g
D. 3ma G-+

Answer ||| B

Solution ||| Option A is incorrect as Ecotone refers to transitional region
among two biomes where two communities meet and integrate. Option B
is correct as Ecological niche describes life of species and activities in
terms of population to distribution of resources with its competitors.
Option C is incorrect as Habitat is ecological area that is occupied by
particular species of animal, plant or organism. Option D is incorrect as
Home range is area where animal lives and move around.

54.FAFATAR@T 7§ FIF-A1/8 FUT ST FeHed & IHeT&T 878 ?
1) ®H &I fdeTse el o1 AT AT qurrd ¢ |

2) Yl a&] A, Ulg 9 FEHTH HUT gl, AT gl 2|

3) FH AT & AT § 3R 37927 gHHT 3ed e @Iy |
A feT 91T g HT gAET H HE IR AT |

A. Fad 1

B. ohael 2 3R 3
C. %der 1 3R 3
D.1,2 3R 3

Answer ||| D

Solution ||| Statement 1 "The surest way of annihilating Karma is to
practice penance" is correct as annihilation of karma comes through
penance. Statement 2 "Every object, even the smallest particle has a
soul" is correct as Souls are not the property of animal and plant life, but
serves as entities which are not looked as living by other sections.
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Statement 3 "Karma is the bane of the soul and must be ended" is correct
as Jaina believes every living and non-living being has soul.

55. @ SRt & @ FHia-dr ¢ SoAde & G@RT U Ffdd H AR &
Tehll B/87?

1) Rpetarear

2) IHdMY B

3) HIV-AIDS

A feT AT FHe H FANT F FE IR JAT |

A. Faa 1

B. %had 2 3R 3
C. %der 1 3R 3
D. 1,233

Answer ||| B

Solution ||| Tattoo is a permanent mark on skin having pigments that are
inserted by pricking skin's top layer causing a skin infections. 1 is
incorrect as Chikungunya is not spread through tattooing but spread with
mosquitoes, so this eliminates options A, C and D. 2 Hepatitis B is correct
as Tattoing helps in spreading of hepatitis B virus infection. 3 HIV - AIDS
is correct as equipment used to create tattoo which contains
contaminated infected blood stains as Tattoo tool it is not properly
cleaned by person which further lead to blood borne diseases.

56.fAFATAET A @ HlA-T1/A F&T0T A=Y FHIAT & WAl 1 T FRAT0T Heer &/
A 8 ?

1) 37 faermer #ger 3R Al g1a & |

2) 9 gfadt 3R Saa3it, g i g A & |

3) @ geu # =Sl @RI Wi AT AT &1 GG A F |

AR fQU 91T e F TANT X TE FYA/ FYAN H AT |

A. haer 1 3t 2
B. shadl 2
C.1,23R3
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D. 3TdFd FUAT F ¥ A o 7 €

Answer ||| B

Solution ||| Statement 1 "They possessed great palaces and temples" is
incorrect as during the period, no temples or religious place was seen
from Harappan cities. Statement 2 "They worshipped both male and
female deities" is correct as with presence of female deity with male
figure posture that surrounds by animals shows similarities of Shiva.
Statement 3 "They employed horse-drawn chariots in warfare" is incorrect
as based on Indus seals there available many animals such as goats,
buffaloes, oxen, elephants, dogs and camels, where Harappans were only
familiar with horse. Option B is correct as both statements 1 and 3 are
not in favour of Harappan civilisation.

57.9Rd & "¢ fT 37 ugrar frgs AT @eEt & g & fow 3936 &Y
STr g ?

A. 3f® AT & foT

B. @dSifeish ®UT gohrad & T

C. 891l AV HT FHAISA FaA & faT
D. facelr %or 7 =t & fow

Answer ||| A

Solution ||| Deficit financing involves financing budgetary shortage by
way of public loans to generate new money. It is the best compost for
economic development in short term as lot of money is required in
infrastructure, industrial development, transportation and communication
which can be easily carried out through financing deficit.

58.d% &Y # i WHTTT: TH &1 & Hhd § [

A. SITST T J9TR & & Rl T TFHATGT &
B. heald s 37 AfOIToTeh dehl &l ol el & @l |
C. $hedld deh FEA Hol Al HT ITEOT AT ET 8
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D. i doF AN AT Ay F1 317AOT W @ E

Answer ||| D

Solution ||| Bank rate is the rate of interest which Central bank charged
on financing facilities such as loans and advances to commercial bank.
Once the bank rate is higher, then the Central Bank will follow tight
money policies in lending financial facilities to customer, so option D is
correct. Option C is incorrect as on increasing higher bank rate, the
Central bank will charge more rate of interest from commercial bank
which further will charge higher interest from customers, so the money
policy will not be eased. Option B is incorrect as immaterial of any bank
rate, the Central Bank will make loan to commercial bank.

59.fAFATafad H & Hlad-3 #AA H IRAT Roa d aiftifcaes s&f a1 Gafa
LT 8 ?

1) 9REFafaaT 1 aerdr

2) em@Er faEar

3) st FT Ao

4) T &1 AT

A feT AT FHe F gANT A FE IR gAT:

A. Faa 1 3T 4
B. &hadl 2, 3 3K 4

C.%had 1, 2 3iR 3
D.1,2,3,4

Answer ||| D

Solution ||| Reserve Bank of India is responsible to regulate commercial
banks under provisions of Banking Regulation Act 1949 and Reserve Bank
of India Act 1934 for development of banking policies. Reserve Bank of
India will monitor banks in maintaining agreed cash, statutory liquidity
reserves and many other operational matters. The options given in the
questions are all correct as Reserve Bank of India regulates banks in
maintaining liquidity of assets, played role in expansion of branch
operations, helps in merging banks together and played an important role
in winding-up of commercial banks, so correct option is D.
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60.TRET 2 T AT Heclolel fohdehl cFaieyd 3ifdoa g ?

A. 8 YR gaT & e, gEeaa: T gy &, R S T gHET 3T
AR fota &1 aeceT

B. fnell a¥ & Ush & @Rt AT T 1S FEqU

C. Tsh ¥ I THR AR g@ 1 i WHR & drg 3 A8

D. T &2 & & &2 I Yl ol Helolel

Solution ||| Balance of payments of a country is the record of every
economic transaction which is carried out in a year between residents of
country with other countries. It can be current account, capital account
and financial account, so option A is correct. Option B is incorrect as
balance of payments of a country is not concern with export of goods
from one country to another in a year. Option C is also correct as balance
of payments of a country records every financial transactions between
consumers, businesses and government of one country with others.

61.37Rd SISl 3ecioled g fafshar & yrFsT fham arar?

A. fdee e Jreer
B. forca Aistar
C. grsAT HaRT RaE
D. dadl Iisfelr

Answer ||| B
Solution ||| Quit India Movement was lunched when Cripps mission got

failed which was initiated by Gandhi against British Rule in August 1942,
so option B is correct.

62.HTSHA HHIA &F 3Tl &F Ty HRAT Fei-3ealeled FT §3T ?

A. AR, 1919 & Jifafaes & HAaEr HT geieior wel =g =gd &
B. TEHA el & Uledl H gfaemaesl T FATTT H FEIfd i oA
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C. TBAT HARA H Hig i ARAT TETT Agr o7
D. AISHA HAR o & & [ITST=T 1 e fem ar

Answer ||| C

Solution ||| People in India agitated against arrival of Simon Commission
as the commission doesn’t have any Indian members, which is option C.
Option A is incorrect as there was no question by Indians to review
working of Act of 1919. Option D is incorrect as Simon Commission never
suggested the partition of country.

63.91R & WU & AR =@ # & Hi-ar, 3U & AT & fow
3RS ¢ ?

A. 7ol 3R
B. #el &helcd
C. =g & sAfd A& dca
D. Hel 3fURR AT FHT Hclcd

Answer ||| C

Solution ||| In the question, the fundamental which has to be taken care
while framing any law or governance of country are the Directive
Principles of State Policy. These are the guidelines for union and state
governments of India that are applied to frame laws by government, so
option C is correct.

64.AEATAAT # @ wieT &t ey & fdior & AT qod 39y &

A. 3TOT & QU alsh @ GcH Hlh
B. ¥ad HI FHATCT Fh

C. WA 3R #FT ot war & &
D. 9 AT & U3, ARG 37aTAT H

Solution ||| Option A ™ The extinction of the flame of desire” is correct as
Nirvana in Buddhism is described as extinguishing of fires causing rebirths
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and connected suffering which is death of thirst. Option B is incorrect as*
The complete annihilation of self” is extinction of thirst which is not self-
annihilation as there is nothing self in Buddhism. Option C is correct " A
state of bliss and rest” as Nirvana is a state of supreme happiness and
bliss. Option D “A mental stage beyond all comprehension” is incorrect as
Nirvana is absolute, supra-mundane experience which is insufficient to
describe.

65.%5 Aclhd Sl JHBT FT JcT Fgd §, Sofh 31T H AR | =il # 41
IR g ?

A. T8R YI-8Uel BT ¢, Siaieh Ucg sley THe3it 1 Haraeu §

B. JcT YSI-¥UeT BIT &, Saieh [agN dlqyr fegsit & Hara wure

C. I T & gT & T W E&U 8T &, S fagR a[br ox 31efr et gier g
|

D. gl # HIg TEJRE 3ol eIl

Answer ||| B

Solution ||| Viharas were place for living while Chaityas were place for
discussions. Viharas is a resting places for wandering Buddhist monks
while Chaitya is a place for offering prayer, hence option B is correct.
Option C is incorrect as Chaitya is not a Stupa but there were Stupa at
the end of the hall. Chaityas were commonly part of a monastic complex,
while Vihara has central hall with compartments.

66.EATAET Tsat # @ fhad /fhatd [Hg-JesT aeR (Hehreh) 39a Wiehfceh
AT H 91T ST g ?

1) affAereTg

2) e

3) Felesh

4) 3TeY YT

A feT AT Fe FT TANT F FE IR FAT

A.Faad 1, 2 3R 3
B. dhdol 2
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C.adol 1, 33K 4
D.1,2,33R4

Answer ||| A

Solution ||| Lion-tailed Macaque is a fruit, insects, eggs eating animal
found in the pockets of evergreen tropical forest in Western Ghat of South
India, so 1, 2 and 3 are correct, hence correct option is A.

67.fFFlaf@d # @ *la-a1/A, HeT # ASelel H Feldl g/aeld 87?
1) STeq3lt garT IRAT #T Scqaiae

2) AT aRT HIFA I STl

3) geEafd &1 7Y

A feU AT FHe T JANT T FE IR YA

A. Faa 1

B. %had 2 3R 3
C. %der 1 3R 3
D. 1,2 3R 3

Answer ||| C

Solution ||| Nitrogen can be added to soil from animal by-products, plant
and mineral sources. Statement 1 is correct as adding nitrogen to soil be
done by excretion of urea by animals since urea serves an important role
in metabolism of nitrogen containing compounds by animals. Statement 2
is incorrect as Burning coal leads to cause smog, acid rain and toxic air
pollution and not nitrogen to soil. Nitrogen in soil contains leaves, plants
and manure, so statement 3 is correct. As statement 1 and 3 are correct,
so correct option is C.

68.fIfaf@d shial WX faar fifa:

1) TRed

2) sAreeis

3) TS

30T H # FIA-AUH OF 3RS & 9 F TIFT 1T /81t § ?
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A.13R2
B. shad 2
C.23R 3
D. ohddl 3

Answer ||| C

Solution ||| Biofertilizer improves fertility of land through biological
wastes. 1 is incorrect as Agaricus is a summer white button mushroom. 2
is correct as Nostoc is Blue green algae, that enrich paddy field soil by
fixing atmospheric nitrogen and supply vitamin B to make plants to grow
vigorously. 3 is correct as spirogyra is a living nitrogen fixing algae.

69.faFfafEa At W R ffse:

TS 3Tl 36TTeT § gl dgad arell aAdr

1) Frdfele TG ITTA: 9

2) ISR AT eTTeT: FHATH

3) TSele Jeir TSET Joll: Ay

3UFT IAl A @ FlT-And TEr gAfAd g8 ?

A.13R 2
B. hael 3
C.13Rk 3

D. FIg e

Answer ||| D

Solution ||| Ramnagar river flows through Jim Corbett National Park and
not Ganga river, so it is incorrect. Kaziranga National Park is located on
flood plains of Brahmaputra River and not on Manas river, so this also
incorrect. Silent Valley National Park is an ecologically diverse areas
located on Kunti river and not on Kaveri river, hence it is also incorrect.
From the options given in the question, none of them are correct, so
correct option is D.
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70.9RcH H Tie YUt & Feedl A, Wl Fyal W TR Hifaw:
1) Wled Y@ell 37 A H Fede wc §, FHd Shal d1 v el Th-gi &
3R GaRT 9T gl & |

2) W YWl Ueh Sl Sl HAMCE & Hecdld I1$ STl § |

3) Wiey YT 3H Tcdeh Siia ! FEAT3T M, ST gfkl & @RI WIS Sl

g, Péue e € |

3UFT HUAT A § DIA-HI/A HUA TET /8 ?

A. Faa 1

B. shael 1 3R 2
C.1,23k3
D. #g e

Answer ||| A

Solution ||| A food chain in an ecosystem is a community of living and
non-living things which depends on each other for food, so statement 1 is
correct. Statement 2 is incorrect as in food chain energy is transferred
from one organism to another for food, so it can exists within species
itself, so only statement 1 is correct, so best option is A.

71.37F g1 foheteh GART glel TATEROT YGNUT & SHROT Blell § ?

A. FAA SEIHTFAES 3R ASCIoT

B. FeeT AlI-3FAES 3R FEa-383FAEs
C. 3 3R FIEd SS3HFASS

D. AgeH 3FaEs iR o SE3iaass

Answer ||| D

Solution ||| Acid rain is a mixture of wet and dry materials coming from
atmosphere which is caused by chemical reaction of sulfur dioxide and
nitrogen oxides which rises high in atmosphere which mix and react with
water, oxygen and chemicals to form acidic pollutants, so option D is
correct.
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72. WA AR SgFd HEFE AT oAl Joif & I / 3Hegaieyd faver &
HROT, AEfafld & & Hla-@ $-3afse & &7 # w@iearor # @ g 82
1) SR

2) HsfAae

3) wfage

4) geIFAR

5) URG

6) drar

7) wafaaH

A foT 91T e FT JAT W T IR AT

A. %ad 1,3,4,6 3R 7
B. &der 1,2,3,5 3R 6
C. %ad 2,4,5 3k 7

D. 1,2,3,4,5,6 3iR 7

Answer ||| B

Solution ||| Computer contains highly toxic chemicals like lead, cadmium,
mercury, beryllium, polyvinyl chloride and phosphor. Computers along
with its peripherals like printer, scanner, keyboard, mice and monitors are
form of e-waste. Computer Monitor contains Cathode ray tubes contain
Mercury which serves as hazardous components. Computer Circuit boards
contains Lead and Copper which serves as hazardous waste, so option B
is correct.

73.9Rd & AU & 36031 H H T & &7 #H Ih A= &1 fFad 3uaey
forar amar 82

A. 3SR AR el HUHR

B. 3eaident 3R T #r +Aifa & fages aca
C. Hol AR AR T #T A & HAewdh dea
D. 3uded # & el # &t

Answer ||| B
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Solution ||| Economic Justice concerns with no inequity among man based
on income, wealth and economic status which is in Preamble and
Directive Principles of State Policy, hence option B is correct. Option A is
incorrect as Economic Justice of Indian Constitution is in Preamble and
not in Fundamental rights.

7431161 AR fdergall & 3e]ugeFd WREE 3R HUSROT & IRUmAEa®T Jnfast
FT 3T 8T &, e 3UQdRiFEd & AT & AT ST §, S THTedT Hiele
Follel 1 3 Al ganT aAse AT 1| haciadlsl fhash GaRT 3caried gid 872

A. Sfraroy
B. UIerSi3m
C. BT
D. fasmoy

Answer ||| C

Solution ||| Aflatoxin is a toxin which occurs from naturally occurring
mold by fungus that are toxic and carcinogenic which are proven to cause
cancer in humans, so option C is correct.

75.3qRd Sfd vd 3ed qRFEARS Ferarll (a1 fORRT 1 Algdn) e,
2006 & 37elieT, eAfFdard AT WHEAH aef ITUSHRT 3rUar gl T gehfa va
RATar & FuRor & gfhar & IRET R & T Fia gfawr grem?

A. TSI g AT
B. {9l sholeel / ERIECT

C. dgdloler / @us AT 31f8RY / AvST Toikg JaRT
D. TTH AT

Answer ||| D

Solution ||| In the Forest Rights Act 2006, the Gram Sabha is authorised
to initiate the process for determining nature and extent of individual or
community forest rights which may be given to forest dwelling Scheduled
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Tribes and various other traditional forest dwellers within the local
jurisdiction, so option D is correct.

76.9hR & A &A1 A qurdd faEaR (PESA) iffags #1996 &
yRfafAT fhar Aeafaf@a # & Sl-a1 6 384 36T & ®9 # AR
e &7

A. TA/H YcTel Al

B. IRFIRF IIFRT T AIAT Salr

C. AT &1 H Taraa §1a1 & fAAToT FHger
D. SieraTfad aelt s NS0T & Herd AT

Answer ||| C

Solution ||| Panchayat Extension to Scheduled Areas (PESA) Act in 1996
was principally introduced to give self rule authority to tribal people so
that they can govern themselves with their resources. Option A is
incorrect the objective of PESA Act was establishment self governance in
Scheduled Areas. Option B is also incorrect as PESA was introduced to
recognise traditional rights of tribal. Option C is correct as the PESA
objective is not to create any autonomous regions in tribal areas. Option
D is also incorrect as it is the objective of PESA to free tribal from
exploitation.

77.81-a3e70r T qRY@r due fAfY & g2 wEl & faw giar §

A. 9de gdad foRaT & 3T A% 39Ted

B. A¢r YATEl & Hfcalehe &1, AT @il arell, e IHdo HereT
C. 39TUT & gl thelel T FFIGAT & Jobd Iod A

D. 39ded # & &S =gI

Answer ||| D

Solution ||| &ex S8 Tolel & foT T TR A yaweT g §, 3R ggrer
HA STeT AT HiT cTawhdr sgd A § AR AT & &Ror 1 A Ao ¢
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78.9TRcTAl T Tl Iculeshdl & HH A 3o Arfaf@d & a ala-ar 3egra
LT 87

A. AGNNR, 3, graeye, Haa
B. A9, AR, O1a@¥Yde, sitel
C. #ag, araryd, shid, #AgERR
D. AGNNR, Hala, sfter, araeyd

Answer ||| C

Solution ||| Ecotone regions like mangroves, wetlands, grasslands etc.
have greater productivity as compared to forest, ocean, pond, river and
desert ecosystems as there are variety of species present in ecotone. In
the question we see that mangroves are intermediary ecosystems which
have maximum productivity while all others are normal ecosystems. The
grasslands are not transitional every time, so it is less productive as
compared to mangroves. There is less productivity in the Ocean since it is
very deep with poor nutrients, so it is least productivity. Hence the
correct option according to decreasing productivity will be option C.

79.9MH Tl # gaT URTEATTh 36[hACT & 3T & §I A ThE HROT GHT @
gfaeafid 767 i &2

A. FIET TT FHahl & HROI

B. MfAT T & yehrer vd Wives deal dr wAAr & HROT
C. ST T TATAT T 31167 & HROT

D. 39ded # & &S =gI

Answer ||| C

Solution ||| Grassland ecosystems are weak due to water scarcity and
frequently on fire which serves as main targets for human development,
hence option C is correct.
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80.79G, Heaisl HIAT &l TR & farell $T9T 312aT FFqOT (R 7 &9 et &
T, IS 8 FIefel &1 Fehcll &

A. T8 Tt Fr dgAfa F

B. dg(—i{sqch AT & TgATT &
C. graleyd Ut $r dgAla @
D. foeTr foreY Tsg &1 GgATd @

Answer ||| D

Solution ||| In Indian Constitution, the parliament is authorized to make
any laws on matter concerning in state list which lead to Rajya sabha
passes resolution, national emergency, states making request,
implementing international agreements, at time of president's rule. So
basically Parliament while framing any law for implementing international
treaties need no approvals from any states, hence option D is correct.

81.99Tc & Qe fFATT 3MegicleT AT AT AleT 22

A. FTHERT T BEASRT I AT b MY AT T FH b T [dgs el
B. #f& &1 areaids WideX g1 & &Td, §-Fdlidca HVhi Pl TaleT Hlell
C. STHERN 9T & Iedqelel TUT VAT FI 3w

D. FYH & FHAEA KU F Ieg AT

Answer ||| A

Solution ||| Tebhaga movement in Bengal was militant campaign initiated
by Kisan Sabha in 1946. During that period, share-cropping peasants had
to give half of their share of harvest to Jotedars who were the owners of
land. They demanded reduction in distribution of harvest share given to
landlords to only one-third the price, which seems to be option A.

82.f=fof@ & O g [ / fooa Aol &1 gfdena & 3eo@ 8T 87
1) T~ s aRkve
2) TSTAT 3T
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3) &r aRwe
A feT 91T g FT gAET W HE IR gAT:

A. Faer 1 3R 2
B. %ad 2

C. &had T 3R 3
D. 1,233

Answer ||| D

Solution ||| 1 is correct as National Development Council is extra-
constitutional and non-statutory body involved in decision making on
development matters. 2 is also correct as Planning Commission is an
institution does not derive its creation from either the Constitution or
statute and simply involves in planning strategies. 3 is correct as Zonal
councils are statutory bodies set up under States Reorganisation Act
1956, hence the correct option is D since all the three mentioned in the
guestion are not mentioned in constitution.

83.frtfef@d W faar Hifaw:

1) faegd-geshra fafeor

2) T el

3) TecdIT e

4) Tolc HATeleT

5) geaT &1 goule

6) gl T aRshHOT

3UFT A § -8 gL & 56 W Afcieh IR e & fov SFAar §

A.Faa 1, 2, 331k 4
B.%der 1,353 6
C.%ad 2, 4,53R6
D.1,2,3,4,53R6

Answer ||| A

Solution ||| 1 is correct as Electromagnetic radiation brings changes in
Earth’s surface through rainfall, wind, and certain climatic factors. 2 is
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correct as Geothermal energy is thermal energy generated and stored in
Earth which helps in mitigation of climate change. 3 is correct as
Gravitational Force is responsible for landslides, river flow and related
diastrophic changes in earth’s surface. 4 is correct as Plate Movements
create rift valleys, mountains and several large scale physical features
which brings dynamic changes on earth’s surface. 5 is incorrect as
Rotation of earth is responsible for climate and does not relate to large
changes on earth’s surface. 6 is not correct as Revolution of Earth results
in seasonal changes only without concerning any changes on earth’s
surface, so the correct option is A.

84.fA=faf@d oAt W faur Hfw:

1) sisher SaAvSS Red: IR ggifsar

2) e (clieheeh) Sitel: a¥oT &1

3) AFSIHI TSERT 3ATeT: aThell GgIisaT

3UFd EAT H @ FiT-A1 A FE gAfeT § /82

A. Fad 1

B. had 2 3K 3
C.1,23R 3
D. I &gl

Answer ||| A

Solution ||| Statement 1 is correct as the Nokrek Biosphere Reserve
which is a national park is located in West Garo Hills. Statement 2 is
incorrect as Logtak (Loktak) Lake in located in Manipur and not within
Barail Range as these are mountain ranges which separates Barak and
Brahmaputra Valleys of Assam. Statement 3 is incorrect as Namdapha
National Park borders to south and east by Patkai hills and not by Daphla
Hills, so only option a is correct.

85.9%dT 7§ WX, TR Heldul-oTel, T Tk N BHACE & &7 # @ gl AV
30T ST I FIH J¥F AT

A. agAVSS H el AR dieel F F9 A 9T ST §
B. 3dul-3TdT aiiell 3R Afear & grar Jrar g
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C. 9T ST & w9 A ¥
D. Hel AT & &9 H §

Answer ||| C

Solution ||| On Earth, apart from ice caps and glaciers, the fresh water in
maximum proportion exists as groundwater which approximates 25 to
30% as described from the global distribution table, so option C is
correct.

Global Water Distribution Percent of Fresh Water

Cceans, Seas, and Bays
lce Caps, Glaciers, and Permanent Snow 68.7
Groundwater

Fresh 30.1

Saline
Soil Meisture 0.05
Ground Ice and Permafrost 0.85
Lakes

Fresh 26

Saline
Atmosphers 0.04
Swamp Water 0.03
Rivers 0.006
Biclogic al Water 0.003
Total 100.0

86.713eT AT IRTHA & IR Fgt §, Fafh iR 37 yredd I3 At
qd I R gl § T 14t §?

1) I Tsh YW fauer (Rwe) arér & W|ar ¢

2) ¥g A=y 3R daqst & & T8 §l

3) A T T HET HRA & TRIA H 3N B

ARy fQU 91T e @1 JIANT F FE 3R giAT|

A. Faa 1
B.2 33
C.13R3
D. #g =TEr

Answer ||| A
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Solution ||| Narmada River is among the major rivers in peninsular India
which flows from east to west towards rift valley, so statement 1 is
correct.

Narmada enters structural channel between Vindhya and Satpura ranges
and flows across Madhya Pradesh and Gujarat in Gulf of Khambhat, so
statement 2 is also correct but that is not the reason for flow towards
west.

Statement 3 is incorrect.

87 .3791-3eT K3l H fet-aay 3R AF-077 & faear & A= fha wror
T gidr 87

A. 92 & A9 3HeT 9 guTeT

B. gt &1, ¥ & URI 3R qEgey Ofd & Wspaor
C. TU=T Fr 3vemei fufa

D. gl &7 od 3eT W IRHHATT

Answer ||| D

Solution ||| The three reasons that contributes in variations of day and
night time Seasons are:

1. Tilting of Axis

2. Revolution of Earth around the Sun

3. North Pole pointing in similar direction
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88.2M4T 3NN &F IcUlesT T IUANAAT & Fegdl H, Aeiaf@d # & Hla-ar / @
FUT TEr g / 872

1) @IS A, Foll 3cules & T Sl AET $UT & &0 H 9gad har ST FeveTl &
2) M A, A TERAS 38 & Icdled & AU Th ROT-ElS H TG Tgod
T ST Tehar B

3) e A, TYETT 3cdee & AT GG AT ST Fhell B

ARy fQU 91T e HT JANT = T 3R giAT|

A. Faa 1

B. %had 2 3R 3
C. %der 1 3R 3
D. 1,233

Answer ||| C

Solution ||| Bagasse is fibrous residue which is left after crushing and
extraction of juice having fibres, water and soluble solids used for
generation of steam and power for operating sugar factory, hence
statement 1 is correct. Statement 2 is incorrect as Molasses on recycling
are used by distillers, bakers and pharmaceutical companies. Statement 3
is correct as ethanol is prepared by fermentation of molasses. From the
above we see that two statements are correct, hence correct option is C.

89.FFITd ¥« W faR HIfaT:

R & HglerIary

1) ok GHT ST HRIGRT & HT of ohdT &

2) ek T Fr et Ifafa Fr @eeT g gohdr g
3) oies @HT # el GohaT &

4) oteh FHAT H HAJGT X Fohell &

39ded HYUA H A PIA-A1 / T HE &/ 8?

A. &hae 1

B. 2 3R 4
C.1,23R3
D. &haer 1 3K 3
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Answer ||| C

Solution ||| In India, Attorney General is the chief legal advisor appointed
by the President who has the right of audience in all Courts in India and
can take part in proceedings of both the Houses of Parliament without
voting power. Thus we see that statements 1, 2 and 3 are correct while 4
is wrong, hence the correct option is C.

90.farfaf@a foadf W faar Hifaw:

1) 9Rd & AU A FAMYT FHael olleh FHT A Tk [TYIH I JFAIAT SdRT
& YRET AT ST FohaT B

2) gfe AT EeeeT Tiaus & T aRT & aRade & AT Far §, aF Jenes
T ITEAGA AR & Ff Tl o faereT Avser g@ry fanar Serm o 3mavass g
3udad FUsl F § Fle-ar / & @ g/

A. Fad 1

B. &had 2

C. 13k 2 g=r
D.Adar13R aar2

Answer ||| D

Solution ||| In case of amendment in Constitution of India, both the
houses of the Parliament will initiate a bill, so statement 1 is incorrect.
Statement 2 is also incorrect as amendment seeking changes in federal
character of Constitution should ratify from at least half of the states.
Both statements 1 and 2 are incorrect; hence the correct option is D.

91.fFfaf@d Si=g3it W faar ffSw:
1) gefe g
2) WA eiver
3) Wy e
3UFT A @ HIT-A1 / @ FIAURT § / 82

A. haol 1
B. ahdol 1 3R 3
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C. adol 2 31K 3
D.1,23k3

Answer ||| B

Solution ||| Sea cow is the highest member of Sirenia which is an extinct
herbivorous marine mammal, so it is correct. Seahorse is not a mammal
but it is a title for 54 species of marine fishes. Sea Lions are marine
mammals having feature winged feet. It is noted that both 1 and 3 are
correct, so option b is correct.

92 .9 s & Tecdt &, uedr & T 3w & e

A. 3 9ledl & dET garT WY fadfaa ge

B. R ISET I TAT ARAH o9 gaRT AFAT §T &

C. Il faurer @3t egnr faaifaa ge o

D. TR @RI FAtMialeh HHA H Sofehl AT & faw gt 77 &

Answer ||| C

Solution ||| In Indian history, seats in constitutional assembly were
allocated to every British province that was decided among Muslims, Sikh
and General category. Members of Constituent Assembly were elected by
respective Provincial assemblies by way of single transferable vote.
Option C is correct as members of Constituent Assembly were indirectly
elected by Provincial Legislative Assemblies.

93. AT # @ HT-@ HRA & Fo 0ET A N & STl H Tg¥h & &I &
qTe S 872

1) 3Rl

2) aRfeere

3) HaRISS

4) wrAfeserss

5) QA

o) feT 1T e @1 JAET H FqE IR AT
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A. Faer 1 3R 3

B. %adl 2, 4 3K 5
C.%acl 1, 335
D.1,2,3,43R5

Answer ||| C

Solution ||| As per WHO, the risk associated with quality of drinking water
involves pollutants such as arsenic, uranium and fluoride, hence 1, 3 and
5 are correct. Sorbitol is an artificial sweetener and laxative while
Formaldehyde is used in coating, laminating etc which are not pollutants
of water. So from this we see that option C is correct as arsenic, uranium
and fluoride are major water pollutants.

94 R T AR AR
1) ART 3T

2) AT Ry

3) A IR

4) TS AR

ST @ F-Y R TP T F T Y ¥

A.$ael 1, 2 3R 3
B. shdel 2 3R 3
C. dhaol 1 3R 4
D.1,2,33R4

Answer ||| A

Solution ||| Star tortoise is a species found in dry areas and scrub forest
in west of Sindh province in India, hence it is correct. Monitor Lizards are
large reptiles found in Africa and in Asia, which is also correct. Pygmy Hog
is smallest and rarest species of pig which spreads across India, Nepal
and Bhutan and in Tropical forest of Mexico and Brazil, so it is also
correct. Spider monkeys are found in tropical forests of Central and South
America, which is incorrect, hence A is the valid option.
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95.4R T I oA dTel Hiell AT J3MeT =T (EAeT 1) o cAchlolled R
AT 23 3R &P 1 aoie fovam §1 58 Feedl A, efai@d & 4 sia-
G/ q wYT Tl g /87

1) @ssh AR A-ART FeAR & U TRe Frfara I

2) STl d Yl & fow gus &1 uee g, 3179, STof 9 fav garT dcaafier fear
ST & fordt off safed & fASiar sryar Qv & vy & @rue A

3) sAaIRAt &1 SAtarer 3R ATl TR eh AT IS AT

AR fQU 9T e HT JANT X T 3R giAT|

A. Faa 1

B. %had 2 3R 3
C. %der 1 3R 3
D. 1,233

Answer ||| B

Solution ||| Yuan Chwang was a Chinese visitor who visited India during
period of Harshavardhana to see sacred places connected with life of
Buddha. Statement 1 “"The roads and river-routes were completely
immune from robbery is incorrect as Yuan Chwang himself robbed many
Gold and silver images of Buddha. Statement 2 “As regards punishment
for offences, ordeals by fire, water and poison were the instruments for
determining the innocence or guilt of a person” is correct as according to
Yuan Chwang, water, fire, weighing and poison were the four ordeals by
which innocence or guilt of accused person is found. Statement 3 “The
tradesmen had to pay duties at ferries and barrier stations” is correct as
Yuan Chwang noted that under taxation and revenue, tradesmen during
exchange of their goods needs to pay small duties at ferries and barrier
stations. We see that only statement 1 is incorrect that eliminates option
A, C and D, hence option B is correct.

96.9+1aifaTsT DNA Stenfatehr (3refaifies gohfarerd) Sl il TUeledRd gl aar §
1) dtet & Afdesr sfaat &

2) Steq3it & diut A

3) G&H Sial § 3Tec Sial #

AT feT T e @ AT A FE 3R AT
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A. Faa 1

B. %had 2 3R 3
C. %aer 1 3R 3
D. 1,233

Answer ||| D

Solution ||| Recombinant DNA technology is that where individual genes
get transferred from one organism to another across different species. We
see that statement 1 is correct as on transferring carrot genes to rice, we
get Golden rice. Recombinant DNA technology applied for producing
transgenic organisms applies to plants, animals and bacteria. Statement 2
is correct because as per research, movement of genetic material DNA
taken from plant or animal can be placed in any and vice versa.
Statement 3 is also valid as transferring of genes from bacteria to man or
man to bacteria or from bacteria to plant is possible, since all three
statements are correct, so correct option is D

97 AR TRAcTaE] & 3Tg & Hoadl #, [F{aild HY=l W fauR HIfaT:
1) STEref I IHT HRA HT AHATH HARST Aepe IHT |

2) SRTSN T Aelehed BV FHAC e I[Cd AT GaRT Held: 3Msilident & for
JAars a5 Af|

3) TelRT & TGV e et & fov a=1s 9718 o

3SUFT HUA A F HleT-AT / F @ E/ 8 ?

A. Fad 1

B. shdel 2 3R 3
C. %dd 3
D.1,2 3R 3

Answer ||| C

Solution ||| Statement 1 is incorrect as Badami caves are not the oldest
surviving rock cut caves dating in 6t & 7t Centuries. Statement 2 is
incorrect as Barabar Caves are oldest surviving rock-cut caves in India
from Maurya Empire 322-185 BC. Statement 3 is correct as Ellora caves
are famous for Hindu, Buddhist and Jain temples which constructed


http://www.gradeup.com/

e

www.gradeup.co gradeup

during the time of Kalachuri, Chalukya and Rashtrakutas. Since
statements 1 and 2 are incorrect, so it eliminates option A, B and D.

98.fAwfafEd guAt & @ wl-ar v a@d gafad & ?

A. #iamfoe oefor - TfaffeT 9o : gger - 3R

B. #Hiafeler TI&T0T - Tl 9dd : Yo - 3AR-GIedAT 33hieT

C. #ilaiferen S&ToT - I JTUHH : YU - STETOT-afReT 3shieht
D. #ianfos oeTor - 3Fpraen gioft : ueer - Semnfaar

Answer ||| B

Solution ||| Option A is incorrect as Abyssinian Plateau is located in
Ethiopia and not in Arabia. Option B is correct as Atlas Mountains is
located in North western Africa which is about 2,500 km. Option C is
incorrect as Guiana Highlands is a plateau which is a type of low mountain
region in South America located north of Amazon and south of Orinoco
River. Option D is incorrect as Okavango Basin is located in South western
Africa and not in Patagonia.

99.frfaf@d Fual # & HiA-ar dgr 82

A. HRA H Teh g ehiehd &l Teh & AT & & A1 318 Tal & Toaudd Hged
el fhar ST dehdr

B. Rd # T & 3=~ o AT Ao & AsIUTel aRT faigerd
frd Sd €, St 38 & S STUaH FAETeT &~ asedfa earT fAged
R o €

C. #Rd & HAUTH H ToTIST H 38k Ue & gead & His 3 uishar femida
oTel &

D. faurll syaer arel @9 Ty &7 A A H A IwIeIare

AN, SEAd FAAA & YR W, H S ¢

Answer ||| C

Solution ||| Option A is not correct as Indian constitution, a person can be
appointed as Governor of more than two States at the same time where
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his salary gets shared among the respective states. Option B is incorrect
as Judges of High Court are appointed by will of President, Governor and
Chief Justice of High Court. Option C is correct as Constitution does not
place any reason for which, Governor gets removed by president. Option
D is wrong as in case of Union Territory with legislative setup, Chief
Minister gets appointed by the President not by Lt. Governor.

100.31¢ ToT |1 fordll &t Taeen & GRS HAEET el g, ol TcIaTd F41
glam?

A. olish FIT Tog THT3HT ' 3ETRAT T TR Y, 58 TA8IH a3 R
T FHAT ¢

B. olis T [T aX A 15 f9aR g7 X Thal

C. olteh T T49g® &l JATGuR & ToIv ToT T &l el Tohell §

D. Tegdfad fA8%e 1 IRd Fel & faT TgFd doh 3Mgd X Ahd &

Answer ||| B

Solution ||| Money Bill is introduced in Lok sabha on recommendation of
President which cannot be cannot be initiated by Rajya sabha. Rajya
Sabha can reject or amend the Money Bill only with the concent of Lok
sabha. If Lok Sabha doesnt accept any amendments recommended by
Rajya Sabha, then in such case, Money Bill is deemed to be passed by
both Houses of Parliament, which suggest that option A is correct. Option
B is invalid as Lok Sabha has to wait for 14 days for any amendment
made in the bill by Rajya Sabha. Option C is not relevant as there is no
need for the President to call joint sitting for passing of Money bill.
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